3Jnpow

S
3
- M10x0.5 - 6g
D
=
S
S
Vs
o~
m N S
n Do
-_____I
>
< m——
S
L}
0,555
6
(=]
S
S
3
S
=
S
3|
>
)
<
=
E
5
x
S
8 module
>
'§ /lum. Macca | Macwmad
S| Waml uem] N doxkym. | Nodn. | fama
Pa3pad. |Victor 03.03.201
<|  |/lpob.
S| |T_koump. /lucm [ Jucmob 6
< Hay.omd.
< H. koHmp.
X
=] |Ymé.
KonupoBan ®opmam A4




3Jnpow

. M10x0.5 - 6g
o
5
S M9x0.5 - 6H
E t S 0
s &
S Nb
_________ o~ oAl
————————— T R SYRRS A5
A | A
|
Ll
|k
> ||
cg - ===__________ﬂ — J
E_ 14 +0,2 014 +0,05
0 8+0,05
16,3°5]
A _A ( 4 N 7}
E
(=]
S
S
3
S
=
S
3|
>
)
<
=
E
5
x
S
8 module
>
'§ /lum. Macca | Macwmad
S| Waml uem] N doxkym. | Nodn. | fama
Pa3pad. |Victor 03.03.209
< lpob.
S| |T_koump. /lucm [ Jucmob 6
< Hay.omd.
< H. koHmp.
X
=] |Ymé.
KonupoBan ®opmam A4




3Jnpow

S
5
|
S
=
: = Ol w
L L M| w
=
S
§ 2,45 11
045 13
36
(=]
S
= I
3
S r—
S |
A
S
3|
>
L)
=
=
E
S
<Q
S
S module
>
'§ /lum. Macca | Macwmad
=l Wsml fuem] N dokym. | Modn. |fama
Pa3pad. |Victor 03.03.20
<|  |/lpob.
S| |T_koump. /lucm [ Jucmob 6
< Hay.omd.
< H. koHmp.
I
=] [Ymé.
KonupoBan ®opmam A4




3Jnpow

x

S M10x0.5 - 6H
5
g
=

Z/

o N < o))
= N N N
§ 32— — 5 —%—% — 8 —§ 8 8§

()

+0,05
6 05 16
238

(=}

S

>

= |

S

=

S

3|

=

o

=

=

E

3

<

S

S module

>

'§ /lum. Macca | Macwmad
S Wsm| Jucm| N dokym. | Modn. |fama

Pa3pad. |Victor 03.03.20

<|  |/lpob.

S| |T_koump. /lucm [ Jucmob 6
< Hay.omd.

< H. koHmp.

I

I

KonupoBan ®opmam A4




3Jnpow

S
5
S. —
5
=
B _I _—__IT ,J ity | B
-
== :
:=I=
== 1] |
QZ. _!____ L!l ey —————— I
g
L}
B-B(3:1)
—
(=]
S
S
3
§
=
I I
S
3|
>
)
<
=
E
5
x
S
8 module
>
'§ /lum. Macca | Macwmad
S| Waml uem] N doxkym. | Nodn. | fama
Pa3pad. |Victor 03.03.209
<|  |/lpob.
S| |T_koump. /lucm [ Jucmob 6
< Hay.omd.
< H. koHmp.
X
=|__|9mé.
KonupoBan ®opmam A4




3Jnpow

S
5
S
5
=
=
El
S
© L N
(=]
S
= 3
3
S
=
S 10
3|
=
)
<
=
E
5
x
S
8 module
>
'§ /lum. Macca | Macwmad
S| Waml uem] N doxkym. | Nodn. | fama
Pa3pad. |Victor 03.03.20
<|  |/lpob.
S| |T_koump. /lucm [ Jucmob 6
< Hay.omd.
< H. koHmp.
X
=] |Ymé.
KonupoBan ®opmam A4




